Government can make choices to hit the right balance of the
goals

Market system:

Laissez-faire

Private control of property and market pricing/bidding
for products and resources will allocate resources

optimally, achieving both productive and allocative efficiency.

Command system:

Centralized human intelligence, given control of the means of production,
can achieve a better allocation of resource to meet the economic goals of society.

US today: A market system with government controls/checks.
Few agree no interference needed.

Vicious arguments about how much to interfere and how to interfere.



What are we doing:

Reviewing the characteristics of a market system.
(The numbered boxes are stuff you want to know and people to discuss).

Different societies have different market systems.

The next slide tries to discuss variations in market systems by looking at three
elements of context:

1) The chosen role of government

2) The culture

3) The resource circumstance.



On 3 (the boxes are the features)

%ﬁre]ljctens)tlcs of a market system: U 3[3) Money
e boxes rovides - - -
: — - removes a risk cost in tradin
Active but limited well-accepted | _ o oves costs of barter ¢
— government ——money
- allows complex values to
Patent law, Courts defend be simply measured/expressed
incorporation, property rights
limited progressive in Const. 1) Private Property
taxation Maintenance of allows realization
level playing field: of return on
t7) IﬁeVTrage OZ insider training, effort
cC .1’10 Ogy an Laws allow antitrust laws il
capital investment freedom to choose i )
l;rrgggi?';gm and to establish 4] 4 Respect for acting in] E
. i seltf interest =
SMEPrISe  _T5) Competitive mkt | ] O
mechanism: )
T - diffusion Qf power: ¢ 6) Specialization 1 .
%\I © enﬂe b ree or? - many parties "vote™ - Exploit differences
iJus(i)nCe(s)z (i/o ;f(l)i;lsl fc)ion) - transparency/mformatmn - Cummulate know-how
. cortup makes good allocation - Gain time efficiencies
- Varlous. buying .1n.ﬂuences - rigorous prices capture
- Unpredictable visions followed complex value trade-offs
Net: Productive diversity of
—ee  Circumstance: p——

investment

large? & well endowed?




THE FOUR FUNDAMENTAIQUESTIONS THAT AN ECONOMIC SYSTEM ANSWERS

What will be produced? Yes: Products that generate excess profit (economics)
Yes: Products that, on average, produce normal profits.
No: Products that sustain losses that are too large

How will the goods/services be produced? Yes: Methods that temporarily improve profuts
maintain competitive costs.

No: Methods that are more expensive.

Who will get them? Those with the ABILITY and WILLINGNESS to pay.
(cue socialist rant)

How does change occur?

Prices drive allocation of resources as consumers vote
Creative destruction advances techniques/methods/technology
Fruits of capital investment



Profit is what Entrepreneurs get paid (remember cell and wrip)

ROUGH IDEA: Profit = Revenue - Costs

Accounting Profit = Total revenue - Accounting Costs

Total Revenue: The money brought in the door.

Accounting Costs: All costs other than Entrepreneurial compensation

PROFIT SHOULD = ENTREPRENEURIAL COMPENSATION => Accounting profit = Entr. Comp.

Accounting profit may just be:

Normal Profit
or

Normal profit + Economic Profit Page uploaded

Normal profit = Fair entrepreneurial compensation.
Economic profit = Excess reward above normal profit held by the entrepreneur.




What will be produced? Yes: Products that generate excess profit (economics)
Yes: Products that, on average, produce normal profits.
No: Products that sustain losses that are too large

-———————————Normal PI‘Oﬁt

A . Normal Profit: Appropriate compensation to the entrepenuer.
ccounting -, <A/C Rev. Pays for time and risk.
Profit
(what is Economic Profit: Excess profit/pure profit. A windfall to
actually the entrepenuer arising from fortunate circumstance.
booked)
For entrepenuers economic profit
is like a porch light to a moth -
an irresistable attraction to entrepenuers.
What happens as more entrepenuers enter
<A/C Cost. a market chasing economic proft?

What happens when companies don't earn economic profit?




How will the goods/services be produced?
Yes Methods: Methods that temporarily improve profitsor maintain competitive costs.
No Methods: Methods that are more expensive.

Who will get them? Those with the ABILITY and WILLINGNESS to pay.
(cue socialist rant)



How does change occur?

Prices drive allocation of resources as consumers vote

Creative destruction advances techniques/methods/technology (see above)
Fruits of capital investment
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The invisible hand:

Adam Smith 1776 /
People working in their self-interest through the

mechanisms of markets will promote the public interest.

The basis of classical economics:

Markets and "efficiency"

- Markets are not without waste

- They are efficient in that they

Steer resources to efficient use.

They encourage efficient use of information.

The incentive of self-interest aligns human actions with the general good.

This is a libertarian perspective: The world works best when people act on their own,
not subjugated to any force.
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